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55 |MIAE BtRE= =& =X Z<0I0k)| A& SHE 1 13,000 13,000 11,700
56 |XEQE=E MaS It 88 =Y A0 FA==2 e 1 10,000 10,000 9,000
57 U= std EA 2R QEFLIEIK UG ors grorekzigr 1 14,000 14,000 12,600
58 |1010HAI ® A2 gt& st A==0120l 1 11,000 11,000 9,900
50 |H1 A2 HIX*HCe=2 Old RELE MEHINE 1 12,000 12,000 10,800
60 |ZEX Ol SHZEH SSETA 1 9,500 9,500 8,550
61 |Lts =210l & S#0l Atzet =0l6t HUSUR 1 12,000 12,000 10,800
62 [LHY £ WX gsa LR 1 13,000 13,000 11,700
63 (WOl EH=10 A0 0 S22 NMasS ACE It =Rl 1 14,000 14,000 12,600
64 |0i%2 = d eleL ANSF=LI0 1 12,500 12,500 11,250
65 |w2t 27X = 28l Setxel 1 19,000 19,000 17,100
66 [(M& ENX BEXMX= XI0t =3 =2 1 15,000 15,000 13,500
67 [OFA2] NSX JtESIU DIgel=L [S2FE 1 13,000 13,000 11,700
68 (0ld &S0l (R? 4 0ol 1 12,000 12,000 10,800
69 (2= Otel o B4, HAS MBtAEICH HEZ2HN |LheEE 1 13,000 13,000 11,700
70 |22 g9 &4 SIS OLS=LI01 1 12,000 12,000 10,800
71 [AEZE2 2280 g6l HAEH] 1 10,800 10,800 9,720
72 |BASSEH =48 MEE f4d3 SHI0{ =0l 1 11,000 11,000 9,900
73 (=D X orgel Hefss 1 13,500 13,500 12,150
74 2l 3 FetE HHE2I00IS 1 13,000 13,000 11,700
75 |23 Eotdl & EHeE HEN 4UASH? 2t Ol Ciea &tot 1 13,000 13,000 11,700
76 [3.12S SEEFAIS2 SEE 00| CERSY0l FHus [=F2IE0 1 13,800 13,800 12,420
77 |Z1ClEt Ediclet RS, 20 X7 =HIot Eel I-HEl (08018 1 10,000 10,000 9,000
78 |IIAF EtD RAH0IA S S 2= JICtel 1 13,500 13,500 12,150
79 Lt U4 feclo 2o Hel RN tHeds, 013 ISINFSI 1 13,900 13,900 12,510
80 (U= HIOHRIE &= 10t S LSctRA SR |R2En 1 13,000 13,000 11,700
81 |0IAEel A™e DlAHeE aloigls «zelol = 1 18,000 18,000 16,200
82 |S8 &FRE FIIotAUSLINN? 201 or=2= 1 12,000 12,000 10,800
83 (=2 CIXe #D| 02l gelll olexotol 1 15,000 15,000 13,500
84 |#HES XNEAN Aot BEE ¢ S%3 1 13,000 13,000 11,700
85 |[otHEEA Jiotet Ol Zetot =3l 1 14,000 14,000 12,600
86 |¥0tet & OlE€ol=s o LEX off LIS 1 10,000 10,000 9,000
87 |0JI= HIZE 8E HISLIt ohAad =pllsllsli=s 1 12,000 12,000 10,800
88 [2=01 =2Ct ZH0| EES 1 13,000 13,000 11,700
89 |Rcl stu R4 ZAS 2Hotet dzd HSLIR 1 12,500 12,500 11,250
90 |S5H 3 oI=0 G oS3 A atolE 1 13,000 13,000 11,700
91 (2 A gHe = = 1 10,000 10,000 9,000
92 (20 ¢=0l At OEl0lF A 23 A Zet 1 13,000 13,000 11,700
93 |(Zellt 2U 254 bl 2= MES DD 1 11,000 11,000 9,900
94 |(DIHE Q' X7 &tot3 023 detks 0igotol 1 12,000 12,000 10,800
9% (MS2 g olLet 2el 1 25,000 25,000 22,500
96 [McIE AIEE HOlA =0l AEFQIA HE AL [TH O 2I0] 1 13,000 13,000 11,700
97 (ddE,S= Aot HuK? 010l B0t &3 1 13,000 13,000 11,700
98 |MIAIAIGL =6 812 20 =4 1 12,000 12,000 10,800
99 |AMIAHIAIGL =7 . E2% A ges =% 1 12,000 12,000 10,800
100 [MIHIAIR!D ==i8. H 5t g=a =% 1 12,000 12,000 10,800
101 |AIAIAIGL =&19.TH23F Atal =0 =4 1 12,000 12,000 10,800
102 [AIHIAIEL =& 10 AIAH AlE PSESESY =% 1 12,000 12,000 10,800
103 (£ &= 4 A ooz 423 S0EFAt 1 22,000 22,000 19,800
104 |&0te 2E Zad Y= 1 11,500 11,500 10,350
105 [Al2IOF ©el OI0kI| = B2 Sclotol= 1 13,500 13,500 12,150
106 |2S2811. 8L &= S22 88 HL A4 g0l glol 1 13,000 13,000 11,700
107 |U&I0IE I8t 4XF &Y SH CHUHA o Cretd 1 13,000 13,000 11,700
108 |Z& e Ad It A 2018 CElE 1 12,000 12,000 10,800
109 Rt AIAH OL2tCH £ &,01013 ZE}0I0t=F 1 25,000 25,000 22,500
110 |KI=*= JHot XI21CH ESPok nsE 1 12,000 12,000 10,800
111 | XIGte OFOl, Xl &2l Ot0l 230 SHEEEAL 1 12,000 12,000 10,800
112 [BFEtAE ZBE L& Al2lE2(H 33) g e NE= 3 12,000 36,000 32,400




JFAIA L0 23Ul s 28 1 16,000 16,000 14,400
=4 WA US0l &2 2EH 2el 1 12,000 12,000 10,800
JI0let DMZMENZ& Z& 0t eSS 1 15,000 15,000 13,500
LESOE & 10F M delAEIL ZREIL |AtTHE 1 9,800 9,800 8,820
UR= N0 Xiete 2T DLl nss 1 12,000 12,000 10,800
LIREED M= =0lA Ot+=3 ROIZHIZ, 223 1 28,000 28,000 25,200
Lol MSE 20t X gd < OICIof &l 1 13,500 13,500 12,150
gl g0iLle |s0tUR g2U< 28 1 12,000 12,000 10,800
2et2 Ml el sul ASHH SRy cols 1 15,000 15,000 13,500
22222 =) = 1 14,000 14,000 12,600
T4 Rl &0 AR eHE O AZX 1 16,000 16,000 14,400
gz 2 T2+ grorekzigr 1 13,000 13,000 11,700
Oli= HIEAH St? 2 Atat 1 13,000 13,000 11,700
HHY 28 JtEZ Il Chatoi2i0l 1 14,000 14,000 12,600
ALI S HR EZE Sd3 1 13,000 13,000 11,700
AL M orol=2 J.2d oy 1 13,000 13,000 11,700
FAtel, FXtel! RPN Olchotol 1 13,000 13,000 11,700
Lieittel ditel1A~3d &3 2el 3 13,000 39,000 35,100
BHAL A Zot2 grgtelotols 1 11,000 11,000 9,900
tietol= o Astoldl Zol AS? d38Z 280 1 13,000 13,000 11,700
NAISA BHIALA st OtAEREITRS 1 22,000 22,000 19,800
OJl= Ot 0l et Z2=cl, 33t EES 1 13,000 13,000 11,700
XAHeh ZHSZAS SE T FE=FUO 1 12,000 12,000 10,800
ZSSHME G st=AF AFA AA o AZ==L0 1 17,000 17,000 15,300
20late 3EHd etdE gr=201cH 1 12,000 12,000 10,800
AEDIl =8l AL gy e=ga 1 12,000 12,000 10,800
SUOIOKIIZ Btlt= & 010 a=d s=x 1 12,000 12,000 10,800
Ol Al&atoll 0121010 100E 0l ctH elAEE E2M 0o{gotol 1 14,000 14,000 12,600
=g o= =% 1 13,000 13,000 11,700
SAF XSHE 2tES M cleu, ot2RA gl 1 13,000 13,000 11,700
=4 Ot XIJF ®CH 23 A==01e0l 1 11,000 11,000 9,900
SO E H= 0tol OIS E =Uolz =) 1=[R=g-14 1 12,000 12,000 10,800
cHEE HIAUL A8 2HA A o0tEICIEIZR =g 1 13,000 13,000 11,700
el HA E8E O =H| 2887 1 14,000 14,000 12,600
= At R I cIXtE 08t FHE2= | X200l 1 17,500 17,500 15,750
210t KHED| EE ] == N 1 14,000 14,000 12,600
Ol HU2? cHt Or= & HAEH] 1 18,000 18,000 16,200
A0 £58 sl S 042 ')l oflOlA B Ol2 ot [Ht=0loteA 1 12,000 12,000 10,800
StuJt EAHAE =90 8ts 12JtX 0IR c2F =gl [GR=N0] 1 12,000 12,000 10,800
Sclad ZEOt g Es=2H 1 14,500 14,500 13,050
nA0 o =3 off LIS 1 11,000 11,000 9,900
=33 o382 12 H2d SHEEEAL 1 11,000 11,000 9,900
Lot 20l 4 019 = neyg B2 H3 1 13,000 13,000 11,700
ST AIOF, 2+E Cciol 228 =3l 1 18,000 18,000 16,200
OIS0l Ot XI= SAl, Ot 2= SAl Ol&f OlglojLt a2t 1 12,800 12,800 11,520
S1Jl oot }AX SClEt H2Ed™ 28 1 16,000 16,000 14,400
=3 TA&E XAFHR =24 = 1 11,500 11,500 10,350
ool S=E= AEeIgA == LIRHK 1 12,800 12,800 11,520
28 &, MG & E2 U0l 2PNR= H=E0ISA 1 12,800 12,800 11,520
S SswE Aotet HR A THEM 1 11,000 11,000 9,900
fol %ol Hol, 22l 22 ¢l oicl siA ditdeg |22 1 17,500 17,500 15,750
Xal8HEE of2lol Zat| olgtet Cterd 1 12,800 12,800 11,520
== s QLEFLHHI JbE A &OlE 1 13,000 13,000 11,700
X=0IA Z2OUZ ASHXIS o2 OHA DA M= |[a1F8 =utg 1 12,000 12,000 10,800
=5 d2s A2 A% CHOlOHLE & &4 JtEoielol 1 12,500 12,500 11,250
TS50 20, 0 &2 JH-ENM? 2d0l 2024 2 Sl 1 15,000 15,000 13,500
S22 HUAAN B &, 20 HTHA? A0/ felstn 1 13,000 13,000 11,700
IR =AE Al&GHASULITH B Lesosd 1 11,000 11,000 9,900




171 [2F2 20 T UL Dfelote HAORS [Maga)| 1 1,000 1,000 9,900
IEEERE axre 018018 1 1,000 1,000 9,900
173 |22 2 A2 ARKNT 20 BN Cre 1 1,000 1,000 9,900
174 Lyl =31 2os AES 1 1,800 1,800 10,620
175 Lol sleieux ue NEEEE uEs 2 17,000 34,000 30,600
176 [#O T HOLIY MTE 01zl zes0d 1 13,000 13,000 1,700
177 [AWEEII 0TS M2 ORI 2yz RISHAOLZ B 1 13,500 13,500 12, 150
178 |ojziol &@st 3tm D G20t 8 sw3 1 13,000 13,000 1,700
R REEREE oz Fofotol 1 12,000 12,000 10,800
180 [SIAH B2 T} 910] Y SIS ME 138 cos 1 12,000 12,000 10,800
181 [T U0 ¥ B i Crol EEE 1 3,000 3,000 1,700
182 [stmot MoK sus e 1 12,000 12,000 10,800
183 [2= 8y 58 =2 E sUe 1 18,000 18,000 16,200
184 [31S24E 0PI M= SN Z st Safi3tey ohtl i 12,800 12,800 11,520
185 [2XxIZ B THeel ol20l Aol 1 12,000 12,000 10,800
186 |2 wy Sokx LAES 1 1,000 1,000 9,900
187 [D AAD ADIEE R AES 1 1,000 1,000 9,900
e BT 21 AES 1 10,000 0,000 9,000
189 |+aret d3ets DAL AES 1 1,000 1,000 9,900
190 [JEX HgA 2z BpBUL 1 12,000 12,000 10,800
191 2.2 s SLE EE 1 13,500 13,500 12,150
192 |24 Me o olne BE 1 13,500 13,500 12,150
193 |29 A6, 2E A0l Sy g% A 1 13,500 13,500 12, 150
194 |&.2 otpe g T A 1 15,000 15,000 13,500
195 [SHHE &9 1HMES bl 35y IR 1 16,000 16,000 14,400
196 [1onCroly B+, 23 HED 1 13,500 13,500 12,150
197 [suee TaE SIOtAIL Mol2  [20i0iTiof 1 17,800 17,800 16,020
198 [UDl ®Ets AS UE 28 o dsa CHEEgY 1 16,000 16,000 14,400
199 [EreIol a4 2z 2ecw 2% At 1 18,500 18,500 16,650
200 XX 138 I8 WD @S NAHEE AR A= i 19,800 19,800 17,820
201 |Z2lol 2XEDl g2 =2 s 1 15,000 15,000 13,500
202 |Gt sl2et Bl Al 2ga) 1 12,000 12,000 10,800
203 |EEol AT 2l e =24 A 22 [Hug 1 26,800 26,800 24,120
204|220t wol 252 2 4+ g 2xg o2 1 14,000 14,000 12,600
205 [otEol 2iEe Elols 219t 2210te] e 1 15,800 15,800 14,220
206 |XIHIHLE SOt 801U 2= 2o 1 13,500 13,500 12, 150
207 [N U AIZLZ D10l AUFE Hoick  [oDIE gasa 1 14,500 14,500 13,050
208 |Ligt BMEte! Q1M ojgolCt Lieh= EEE 1 13,500 13,500 12, 150
209 |HEO H=S 20l SAT B SSLHK 8 At 1 9,000 9,000 8. 100
210 2200 BM Z0IE B = AASUC a0z S oK 8 A 1 9,000 9,000 8. 100
211 [onem aiet 2o o bt 2020l 30 12,000 360,000 324,000
R EEEEEEET o2 &20{210] 29 11,000 319,000 287,100
213 |=2 AR UL ol 2| 29 10,800 313,200 281,880
214 |2122=2(0D) 3214 ¥ HUN 2l [FE0=L 1 22,000 22,000 19,800
215 _|2tol22 (VD) z 112 SECIEL 1 22,000 22,000 19,800
216 |01t AIZIE 3OLA (VD) 3214 HEY w2 oiC 1 25,300 25,300 22,770
217 [orgr2 me2i(ow) we 77 |gusasm3e0l i 22,000 22,000 19,800
218 [£01 2=214(0W0) ENED BECEL 1 22,000 22,000 19,800
219 |otolstel o1z 82(0v0) S22 eleS o |gUBAmYA 1 22,000 22,000 19,800
220 | 201X E(2H0ISAT21) (VD) A2y 2s DICIRESR 1 25,300 25,300 22,770
221 [HIZol 2 EI2HHIAIOHOVD) oy FH OF20ICIOf 1 25,300 25,300 22,770
222 |SEM0I 8D 422 22 (0VD) 2l BAEE 9 [olARtoITCIXe! 1 22,000 22,000 19,800
223 |2ralm e = (ow) ZHE 2800 [8s0=l 1 9,900 9,900 8.910
224 |2ram & =2(0v0) 201 24 BECIEL 1 22,000 22,000 19,800
225 |a30l9t g0l sl WeEs 1 12,000 2,000 10,800
226 |== o2t 212 2Py A WS 1 12,000 12,000 10,800
227 |BRaH a4 o SLIE 1 15,000 15,000 13,500
228 |CHEtRl= 240t 26D B 28 At 1 13,000 13,000 1,700




229 |orgor, W =3U w40 B2 1 14,000 14,000 12,600
230 |WIEIQIT BtaE i M2tIE 220 M2t5s Ojolj2lA: 2IMII=A 1 15,000 15,000 13,500
231 |mErein =2y Hag, S8 Hor=a i 15,800 15,800 14,220
232 |wlEreITIet Ol4Hol sH22E N FEEEC 1 14,000 14,000 12,600
233 |mlErINY 2ote B Ams 9 it = i 3,800 13,800 12,420
234 |oieioler ®ams giE wEAN 27 ux5(98) (2282 1 1,500 1,500 10,350
235 |S2e10 EHAE o 2 SO0 D ane DICIOl% 1 14,800 14,800 13,320
236 |20 |UeH e AREG A 1 13,800 13,800 12,420
237 |22 ceroie 228 A3 EE HE i 14,200 14,200 12,780
208 |malol 0jgh 22 2= SEYe) ERE i 20,000 20,000 8,000
29 |Tmg o e T ETTE yizag) LT 1 9,000 9,000 17,100
240 |Dzio2 2 42N ME (®52) ~310/28 FEER 5 8,800 44,000 39,600
241 |deioz ®e Dol =0b Mls ME(R5A)  |A301 Hei= A 5 8,800 44,000 39,600
212 612 33 25 2019 )| 25l Halife 1 14,500 14,500 13,050
243 |otol= I8t 512 8t = o2t Az Hallife 1 14,500 14,500 13,050
IEEEEEEE AMs, woe 25 i 14,000 14,000 12,600
245 |Arz s=st2) EE MEY 1 12,000 12,000 10,800
246 |3t Aoz ZU= 0001 NIHA 24 URIFAE 9 |olA=D2(0f 1 11,000 1,000 9,900
oa7 |oroiz = s120= 2 ME N E A EE e 2 2,500 25,000 22,500
248 |94 oroloiN 1@t 2e eI ELE = 1 14,000 14,000 12,600
pag |18 THOL NGO S £ 4 =2 Igoyic s, 310 o [aAxgsier 1 16,000 16,000 14,400
250 |CiLIZol AIS ety 013t OFR TER 1 1,000 1,000 9,900
251 |4mol 2t o S BRI mAl 1 2,000 12,000 10,800
252 |=ed Tixt M 220 ABZELIOf 1 12,000 12,000 10,800
253 |dlotol E4 HAl 221824 Liei2 i 13,800 13,800 12,420
254 |22l ez 2 olo1s 281X A AL i 1,000 1,000 9,900
255 |=, = WA HIE Alls  |0iRg 1 13,000 13,000 1,700
256 |nerol 2 3etEI~ OO R Cr ~32) i 1,000 1,000 9,900
257 |u=2ue 2% 520l OHpk Bt 2 5 1 2,000 12,000 10,800
258 |AEDI 20t =33 He 1 1,000 1,000 9,900
259 |uol i a1 e 22lstn 1 12,000 12,000 10,800
260 |20l NESY e i 3,000 13,000 11,700
261 |musol &a EE SHELIOf 1 13,000 13,000 1,700
N NEEEEEEEE 287 9 e 1 28,000 28,000 25,200
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265 |AA=ol =N e EeH0210] 1 9,500 9,500 8,550
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268 |Hi=s o ol e = AZELO 2 12,000 24,000 21,600
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282 |KIZIel 2I1= 01®I DrSASIH 2HE Zas e 2 2,000 24,000 21,600
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284 |otd TISOF QM S I~14 KIE 0123 el 14 9,000 126,000 113,400
285 (Ol WSONTES LR 1~162HE MR el 16 9,000 144,000 129,600
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407 |z=a S0kl AtTIFe) 1 12,000 12,000 10,800
408 2302 2@ LKL BT [EEEYY 1 11,800 11,800 10,620
409 |ZH0E MHEHS BTN [EEE 1 9,800 9,800 8,820
410 [2H24 SHSY Sy 22 s os e 1 12,000 12,000 10,800
411 |7 soole =X 2E 21013 TEPN 1 12,000 12,000 10,800
412 |22 910 =4 2003 HEA 1 12,000 12,000 10,800
413 |=ozel 22019 g 21013 HZA 1 11,000 11,000 9,900
414 (2" 24 A2 = 00k 21013 ED 1 12,000 12,000 10,800
415 Mg el wojo By 2018 HEA 1 12,000 12,000 10,800
416 S0l Ha nrs 21013 NEPS 1 12,000 12,000 10,800
417 |ame o zore Het o= 225D 1 11,500 11,500 10,350
418 |=3 o o1 =x 1 13,000 13,000 11,700
419 |at2 celzs o= 0= ot =3} mol=m 1 12,000 12,000 10,800
420 |=oiUe 2oiLIol 2oL 2 EES Bol= B 1 12,000 12,000 10,800
21 |BRs =xo| 2 Bol= B 1 9,500 9,500 8,550
420 |amoezy dEs0He OIS TH, A QI & A2I012I0f 1 12,000 12,000 10,800
423 o= =0l 2% WU olze ETE 1 10,000 10,000 9,000
424 |2s2 25 MA0/0IR olgz ETE 1 10,000 10,000 9,000
425 |ots® mX oo ==X 014D ETE 1 10,000 10,000 9,000
426 (R 2D UEUE 0l DI oH T 1 10,000 10,000 9,000
427 (o =op 22 & Bk 0101 0H e 1 10,000 10,000 9,000
428 |U= =9 2 oroloidte ol e 1 10,000 10,000 9,000
429 [szoliE ssuA 0l D1 of S 1 10,000 10,000 9,000
430 [31M S0 slein aeiu =08 ZorE A 1 9,500 9,500 8,550
431 (oI =2 e el ey L1012 % A 1 11,000 11,000 9,900
432 ol JHRE NEE 2 1 12,000 12,000 10,800
433 |ug zoz =y He Ao sass 1 11,000 11,000 9,900
434 Lot oo L2 Gt ERE EFE 1 12,000 12,000 10,800
435 |U=20l gote EMIETE! AIBZELIOf 1 10,000 10,000 9,000
436 [TEOEE)ROISRES IR I [01¢; ¢ B (ZIHAUC) 1 579,300 579,300 521,370
437 |0= 2D 9= 2D 899 2otet 2 Bol=B 1 12,000 12,000 10,800
438 | IS AL o8 ol B 1 12,000 12,000 10,800
439 [mEe gsuUd pe Bol=3 1 12,000 12,000 10,800
40 |2otem x4 Aue a3 mol=z 1 12,000 12,000 10,800
441 |=2 Worol mets o =2 e 1 5,000 15,000 13,500
442 [Z2U=2 oreHol Al e =gy 1 9,000 9,000 8,100
43 |2z 22 2= NY 014 2% st22 020l 1 12,000 12,000 10,800
44 |221U2t2 AEUCH TAIE Jictel 1 9,500 9,500 8,550
w5 |55 ==o olsler 2y 1 13,000 13,000 11,700
446 =20l U2 2ot 20/A 229C21 |yEA 1 11,000 11,000 9,900
447 |23, E20 i SHOIEFLI AXIZ sa= 1 10,000 10,000 9,000
448 |2 X MR o 245 ME= 1 12,000 12,000 10,800
49 21 == 2= mol=m 1 12,000 12,000 10,800
450 [2R=x 22 "ol 2=t QMR A 0f Zeazlof 1 11,000 11,000 9,900
451 |oheHel 2 X0 =2t ols SAELIOf 1 10,000 10,000 9,000
452 |2HT OLMM S T2IADIA el i) NE 1 22,000 22,000 19,800
453 [dErREAS 2O Ae 23 TEVEN 1 9,500 9,500 8,550
454 (2230l el 20U T e 1 10,000 10,000 9,000
455 |HIMOIM DI 228 Al EEE ED 1 12,000 12,000 10,800
456 |F0IEIS =4 HXILIOH 2l HE  [AZ==LO 1 10,000 10,000 9,000
457 |= 2= o, =912 pyoe Ere 0l0| 2 1 14,500 14,500 13,050
458 |=0l Oz AP0l D02 = A E2/0t0l 1 12,000 12,000 10,800
459 |oicieF el 2a NEE Ho s 1 12,000 12,000 10,800
460 [HEoE BRO DUzt 2o NEETI 1 11,500 11,500 10,350
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